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Paper XIII : COMPUTER APPLICATIONS IN
BUSINESS

(Admissions of 2006 -and onwards)

Time: 3 hours . Maximum Marks : 75
[Part A : 2 hours, _ [Part A : 40 Marks,
Part B : I hour] Part B : 35 Marks]

(Write your Roll No. on the top immediately
on receipt of this question paper.)

NOTE:—_Ansﬁers may beé written either in English or in
Hindi; but the same medium should be used
. throughout the paper.
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All cjuestions are compulsory.
" All questions carry equal marks.
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(Part Ais for the Regular College students and ‘Parts A
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and B are for the NC'_WEB or SOL students.)
‘& S A ot 3 Rl &1 A B &
gl @ 73 w09 @ g sAaErd &
| PaRT A (9T 31) 3 ' Marks-:40
L Writé'short notes on the following:

(i) ALU
(ii) Tailor made software
(iii) Watermark in MS Word

(iv) PMT function in Excel

{v) Convert binary number 10110161100 into decimal
number system.

Profafes W ElEyd o fafes

(i) ALU

(i) TR FE WIREAW

(iii) WHoTHo F& § aretaish

“(iv) TfFwa § PMT ard

v) ﬁwér& - 10110101100 F IWWAS F&A A
¥ Fefag | | 2x5=10

2. (a) Discuss the different types of computers based on
technology with examples.



(b)

(b)

3. (a)

(b)
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Define Protocol and discuss .any three types of
protocol.

maaﬁaaﬁwﬂqmﬂmaﬁtﬁﬂ??ﬁwma:'

R #@ T AR

. Or (g4)

‘What is Language Proccssor". Distinguis_h

between Interpreter and Compller

aTer W T g 82 mﬁtmﬁm
FAZY |

Define URL. Discuss its types and components of

URL..

URL # IRamr @ifeg 1wt (el sh sea =
fad=m AT | L 5x2

Discuss the steps involved in inse_rﬁng bullets and
numbers into a file in MS Word documenit.

TWoTHe T¢ TWRT # WA ¥ qAY I dwmad
i AfET = A w9 HEEn FE
Describe the wvarious types of cell referencing in
MS Excel. Ilustrate with the help of examples.
ToTHo T ¥ fafy=t s@r & &9 wedl = avfq

FIfAT | ITEO T FAFIY |
' Or (Rgan)

PTO.
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(a)

(b)

4. (a)

(®)

(2)

4

Discuss the different features of “TABLE” in MS
Word Document. ' _ . )

THoTWe TS aﬁﬁa # <“TABLE” & f9=
faew@e S faaen 3 '

How can formulas and functions in Excel work-
sheet be moved and copied?

_qa@aaa"wﬁzuw{a? ﬁtﬂﬁﬁﬁfﬁmaﬁt

F A g o1 9841 7 2 5%2

What is the role of Master in PowerPoint? Also
discuss the different types of Masters. . ‘

Wﬁmaﬁwqﬁwéﬂ%? fafy=1 T
¥ ol @ ot fEe At '
Describe the functions .COUNT, COUNT-

BLANK and COUNTA alongwith their syntax.
Tilustrate with the help of examples.

COUNT, COUNTBLANK 31t COUNTA Fdl- 3
quin ey st I wEE-T=E A FERel
IeTeil F A%E | FHEEL | '

Or (3gan)
Discuss the difference between transition and
animation in the Powerpoint presentauon

Wmﬁfﬁgﬁﬁ?maﬁt@ﬁm%ﬁa afa
ﬂfa‘awa‘?ﬁ’ft{l :
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Write the syntax of the foliowing functions of MS

~ Excel:

oo wa ¥ frafanen wA ¥ AT
= fafet a ‘
() IPMT

(i) SUMIF

(iii} IF | B

(iv) ':IN.TERCEPT' o

) ROUND. | w2

PagrT B (WFI®) Marks : 35

5. Discuss any four different types of charts available;'on '
MS Excel Sbeet.~ Also explain the steps to insert the
- charts in MS Excel. : -

ﬁqﬁ'&mﬁiﬁawﬁznmmrﬁm%wﬁaﬁ' |

JFra= S muﬁmo@o-@aﬁﬂﬂm |
ﬁiéﬁﬁﬁaﬁmﬁm‘}, - 5

6. (a)_

”

Discuss the.steps to find out the frequency in MS

Excel. Tllustrate with the help of examples. ‘
ot TRW # I T = ¥ ol A

-fa%ama%mwawﬁaﬁméwmn 5

(b) For the tollowing data calculate the following:

P.TO.
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1 Region | Salesman’s [Amount ' Questions ‘Values
. Name |(InRs)| .
2 |North Ankush 10000 |Total sales
3 |North Amit 20000 |Average sales
4 [South Ankush  |19000 |Range of sales
5 [North |Koushal {19000 |Totalsaies in North region
6 |West Ankush {23000 |Total sales madc by Ankush

(i) Wnte the formu]a in E2 to find out the Total

Sales.

(ii) Write the formula in E3 to fi nd out the
" Average Sales.

(iii) Write the formula in E4 to find out the
range of Sales. . '

(iv) Write the formula in E5 to ﬁnd out the total
sales in North region -

(v) Write the formula in E6 to find out the total
sales made by Ankush.

frefafes siwgl § FrAfafes & e S

A B c D E .

1 | 8% |dvedawr | ufw o =
am Bo 7 :

2 e |simwm 10000 &= famt

3 Jam  |=fm 20000 |3taa firm

4 |sfem  |sigw 19000 |fimt =1 vOq -

5 s |ghw 19000 |3l &4 ¥ T

6 |vivEm |siew 23000 |simw e W W Hw (wR

() T f 3@ 3 e B2 & wien fafan
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(i) sitwd @y w3 F A E3 ¥ wifen
- fafau) :

gm)ﬁraﬁa'rmmma'f%rQEztﬁﬁ{w-

- fafgae _

(iv) 390 &3 % o faA 3@ S F fag ES #
W fafgr -

™) mmaﬁtn{g‘af‘aﬂmm%mﬁs

7 wifen fafae . , _ 10
' Or (318131)

Dlscuss the syntax AND and-OR functions in MS -
Excel Sheet.

-motaomavﬁzﬁméﬂANDﬁtORaﬂﬁ

& R At 5

(®)

Write down the appropriate formulas in the cells
B6, B7, B8, B9, and B10 for the g_iven number in
cell Al : E5 of MS Excel Sheet. - '

A B C D E
11 {508 ' 1142 (1298 (176|256
2 1691 -~ |577 11456 [658 (1256
3 1992 L 984 |1987 |987 |665
4 825 - 1187 (1478 |265 |987
5 643 127 |768 1364 1287
6 |Highest Number 7
7 jAverage ?
8 |Standard deviation 9
9  [Kurtosis ?
10 |Count the number 9 .
greater than 500 1 J

PTO.
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WoTHo TR Wz F AL:ES 5§ @ 7 dem &
fa B6, B7, B&Bgaﬁtmoﬁaﬁﬁmrﬁmf{a

Ol ol | vl lne=

faf@y | 10
A " B - C D . E
508 ' 1142 1298 176 1256
691 - 1877 - 11456 658 1256
992 . 1284 1987 - 987  [665
{825 - 11187 1478 265 987
643 127 768 1364 _ |287
sitem 7.
A faaem o ?
s 7
10 |500 ¥ =few wem| -7 -
= fefEg
7. (a) From the following terms and conditions in MS _
Excel Sheet, find out the following:— , '
A B c D E
1 |Annual Interest 0% Annual Interest Rate- 8%
Rate
2 |Years required for Number of years in the T
plan on saving 10 loan &
3  [Amount of savings Amount of Loan
(in Rs.) 6.00,000 {in Rs.) i 4,00,000
4 |Amoentof ia- Principal payment for _
terest to be paid the fourth year of the
in 24th Month loan in the beginning
. of the period.
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(i) On the basis of information provided in A
and B columns, write down the formula in B4
{o find out the amount of interest to be paid
in 24th month. '

(ii) On the basis of information provided in D
and E columns ‘write down the formula in E4
to find out the principal payment for the
fourth year of the loan in the beginning of
the period.

Wowdo AW e ¥ fra wel @k Tws @
Frefargd @ 9@ BT

A B C D ) E

aTfish HA T 10% s == [ 8%
w=@ qe % g wu § adf | T 6
svava® ol N
Taq =1 ofn (s /) | 6,00,000 w7 & off (Fo M 4,00,000
24 @Al F fem Fafy & s q
Iy ST ' o % A ad &

fere e Rerh

@) A ot B Foel § @ g gIisil 3 MuR W
B4 # wifen fafgu frad 243 w63 & & 91
et =nw @ Uy w4 & ;)

(i) D i E Fedl ¥ § ¥ qunell F AR W
F4 # wifan fafgy @ w0 3 oeEl &

_ aria & T & WY ad ¥ faw qw aah @
J1d TR W 10

(b) Explain the function of “RAND” and
“RANDBETWEEN” functions with suitable

| examples. - PTO.
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IPYF  IEW  J|WX ‘RAND’ 3t - ‘RAND-
BETWEEN’ #dl & ®r4l 31 e siea ) 5
Or (3y=n) :

(a) What are the different types of errors in MS
Excel?
@omoqﬁaﬁrﬁwmﬂaﬁﬁwé? 5

{b) A company Kush Ltd. pays a monthly salary to its
cmployees ‘which consists of basic salary,
allowance and deductions. The details of
allowances and deductions are as follows: .

Allowance

- HRA Depcﬁdcnt on Basic .
20% of Basic if Basic < Rs. 10000

15% of Basic if Basic > Rs. 10000 &

Basic = Rs. 30000

10% of Basic if Basic > Rs 30000
* DA 350 of Basic but subject to mini-

mum 6000
- Entertainment Allowance (EA)
0 if Basic is <=Rs.10000
Rs. 1000/- if Basic> Rs.IDOOO

Deductions
« Provident Fund (PF) 8% of (Basic + DA)
o Income Tax (IT) .  Flat 20% of Gross Salary

Calculate the following:—
Gross Salary (GS)= Basic + HRA+DA+EA
Net Salary (NS)=GS-PF-IT

Write down the formulas in appropriate cells to
calculate HRA, DA, EA, GS, PF, IT and NS. '
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A | B cC | D E| F | G| H

Basic HRA| DA | EA | GS | PF | IT | NS

4,00,000; - 7. ? ? ? ? 9

'”gﬁ t‘aﬁé‘s TF FA Y A @ ufes 397
¥ A g A, qﬁaﬁtaﬁﬁmwﬁm%lmﬁ
st il 5 awta 9 W 8—

w1

‘HRA @ W fadt

& &1 20%  afz @ =10000 s
ww ® 15% afg g > 10000 shqm| -
s30000 \ -
st @ 10% aft g > 30000 %o

DA 8 w5 35% weg em 6000 & afiw |

- e wn (EA) [0 3Ry <10000 . _
1000 %o =iz g > 10000 %o

Feaal: _ B
afgsy f1f9 (PF) - A + DA ¥ 8%
3mg W (IT) TFHA a7 = G 20%

faefafas .1 i ST

THA a9 (GS) = TA+HRA+DA+EA

fra@ 397 (NS) = GS-PF-IT _

HRA, DA, EA, GS, PF, IT &t NS & i@ 0
¥ fau svgw 9w ¥ w{d fafey

P.TO.
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A B8 | c|p|E|F |G
1| g@ |[HRA|DA |EA | GS | PF | IT | NS
2 (400000 ) 9 | 2 | % J 2 [ 2| ? |
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